W ok = £ % B — ¥ W
HFRESEER

FA AR (—) . Z=.1A 2C
— LB W W R mETA S
2.> = < < E EREORONO)
3.42 67 . 2.0 O ®
4,25 XL @ @
5. (1)6x7-15=27 (2)(15+9)+4=6 | 2. 55 7T WM
' 3. 00

6.8

7.40 36 %

—.1B 2C 3B 4B 5A

. BES

=
m.1.40 75 43 29 63 5 : E§3%%5%%1§§

2. 24-16+8=24-2=22 : TR (Z)

7+2x6=7+12=19 é —.1.484 400 496 438 533 653 712 536
F.1 (44-12)+4=8(L) 2. 8x9+7=79(T) é 2.> = < =
AL (1)32+32-24=40(#) é 3,123 59 32
(2)32+(32-24)=4 é —.680 396 76
2 5x6-8=22( /) | =LA 2B 3C 4A 5C

1 259 351 523 936 709 540
3. (20+16)+4=9( %) s

F .500-148-212=140( A)  228+228-76=380(F %)
4. (80-48)+4=8( T )

BEE

12

75.1. (1)158+368+78=604( )
(2)368-(158+78)=132(T.)

: 2. (1)75+82+74+75+78+80=464( T F.iT)
FAHTM () :
! (2)205+464=669( F K. &)
3. 621-328+275=568( 4 )

E§>§%<§i : 4. (1)H—EFS  (2)572-108=464(F %)

1 460 IC
ZEGEE $1X



2l S () : 3.108 6 20

—.70 40 3000 1800 200 22 42 400 500 + F 1. 125+125+48=298(4% )
-18 7 : 2. 264+264-108=420( & )
2. 50x4 N —FEE
3.3 30 : 2. (1)24x3+5=77(L.)
4.105 : (2)(104-24)+4=20(/)
5. 1800 ! (3)s
6.= < = < > > X

3.(1)182 400 640 900
(2)1000-900=100( k)
BEm

90 T AN 91 T

7.10 4 200 10 :
=1x 2x 3V 4x 5V :
m.1B 2B 3A 4C 5B
H.1 H—51.24 240 2400

%-%:3 30 300 FAF (1)
#=51:9 90 900 P 1 (27-9)+3
2.20 10 152 131 430 240 : 2. 392
75.1. 800x4=3200( %) : 3. (48-39)x3=27
2. 18x5=90( k) : 4> = < <
3. (300-20)+7=40(4%) : 5.22 60 60 60
4. (160-120)+2=20(3%) 5 6.400 21 400 21 421 323 323 421
5. (1)200x4=800( & ),800+8=100( ) 7300
(2)100x9=900( %) : 8. 269
(3)8 L Z.x 2V 3V 4V 5x

&5 :300+(4+1)=60(A) .
Jiiif : 60x4=240( A ) ;

[

JAB 2C 3B 4C 5C
MM.,1.62 52 80 200 20 70 23 200 42

. ; 2.777 219
i (F) ;
‘ - .8 40 70
—LW B 0
2.< > = < B ?%%é
3. 478 ;
73 1. 24+3-6=2( 1)
4.60 60
2.(1)113 80 130
5. 32
6.0 A (2)500-124=376( T F.&F)
7.(56+14):7=10 (15+5)x3=60 (42-12)x3=00 | (3)124-30=94( %.Bf)
8. 83 619 ' 3. (520-280)+3=80( /™)
“1x 2x 3x 4V 5V : 4. 120-25x3=45( A )
=.1B 2C 3C 4B 5B ! 5. 424+424-58=790( 4% ) I [&]H%
m.1.64 90 300 600 60 22 300 32 90 L BEm
2.305 288 E 150 K

—FEREE ®E2W



—.1 —H

“1x 2x 3V 4x 5V 6x ;
=.1C 2B 3A 4A 5C 6.A
F. 1 18+25+13=56( 2 %)

731, (24+18)x2=84( 2 k)

F TN (£)

2.3
3.4 4
4.16

5. 14
6.3 @
7. 16

\H]%

28+35+23+50=136( 2 % )
2. 188Kk 248K 540Kk 8K
2. (14+12)x2=52( %k )
54+2=54( %k )
3. 9x4=36( 2K ) HEIm%
4. (12+48)x2=40( B % )
5. 48+4=12( /&), (48+12)x2=120( 2K )

VeI 4 17 5 518 5 17 4 50 A BE BN AL b
2x5=10( 5% )
2x4=8( 4k )

(10+8)x2=36( 5 &) :

FA G (I\)

.23

2.400 384

3.2 1

4. 1506 576
5. = < >
6. 540

JV o2x 3x 4V sV

=.1.B 2.A 3.C 4C 5B

1.280 84 2500 28 99 840 500 0 900 |
2. W :
3.430 1250 981

4.36 3570 296
ZERHF

.1 865x8=6920( &)
2. 128x4=512(7%.),512 76500 JC, KA
3. 39x2x3=234(4%)
4. 212x4+50=898( 2 X )
5. (Lmg  (2)m
(3)612x8=4896( K ) 128x5=640( X )
4896+640=5536( % )

¢H
ot
&

[4] 5 [2] [4][9][7]
7 9

X

31[6]4

X

3[6] 6 3

F AT (F)

—.1.7 4
2.29 182
3.4 30
4. P 8BF R 20304 B 9B 45 4y
9:45 16:40 22:50
5.2 29
6. T4 5 304>
Z.x 2x 3V 4V 5x
=.1.A 2C 3B 4B 5B
m. 1. %
2. F4E:1990 4F 1900 4
FE4E. 1864 4F 1944 4F
2400 4F 2160 4F
F.1.13:00 230f354) 25Hf ZH K 22 i 50 43
2. W&
7<.1.10:20 13:20 16:20 19:20

2000 4F 1968 4F

2. (1)5 B} 10 B 30 43
(2)8 i} 30 43
(3)mE

3.31-5+1=27( X ) 31+27=58(X)

4.7:26 ¥ 7:35 255 9 41 ,60x9=540( K )

5. AXF.2012 4 2 FInAE 29 K ,29+16=45( X ) /NE
Fo/ NG B Y 2 45 K

6. 11 JJ 13 HM 11 H 25 H

3 H 31 HT4 61}

B3W



AlEN (+)
—.1.20JC8/1 7IC5M 6% 2609
2.11.00 5.50
3. N E
4.1028 13.13
5.809 102 5 3 4
6.< > < < = >
7. 415
Z.x 2V 3x 4x 5.x 6.
=.1.A 2.C 3B 4B 5.A 6.C
M.1.07 44 1776 32 1 027C
2.62 318 21.7 35 62 200
F.1.(1)4207C 4.027C 24070 2.04 €
(2)0.48 7t 0.84JC 4.807C 8.407C

2. A A
26 .4 36.7
- 5.3 + 5.4
21.1 42.1

7. 1. 5-1.2=3.8(70)
2. 7.6+2.8=10.4(T.)
3. (1)3.9+3.5=7.4( )
(2)7.4 55>7 JC
3.8 0>37C
7.4 J6+3.8 J£>10 JC
KA
4. (1) BEIRFNES L Lk Ik
(2)9.4-2.5=6.9(T.)
A=3,B=6,C=4
£ (+—)
—.1.28 4 2
2.0
3. 10
4.72 0.64 4.12
5.0 < = < > >
6.30 6 (13+17)+5=6
7.4 16
8.6
—.1.C 2.C 3A 4B 5A 6B

=.1.2800 309 100 11 1505 1500 210 O

72
2.45 87 57 861 1300 2015
3.5 682 643

. T f
604 6.0 406
- 388 - 3.2 X
216 2.8 2030
A1
2. %

75, 1. 400x8=3200( %)
2.3.3+0.2-0.7=2.8(k )
3. 55x8=440( 7T ) , 440 J1<450 JC, KL%
4. (6+3)x2=18(K) 6+3x2=12(K)
5. 480+520=1000( £ )
8 M/, 38 AR
SN (+2)
—.1.30 30 31
2,08 BR
3.137 —H=+L
4.26 78
5.> < < = > <
6.17 23
JV 2V 3V 4x 5x
JOB 2A 3C 4A 5B 6B
M.1.69 20 1800 34 60 200 11 1.9
2.856 3370 0.57C
3.963 279 495 22 864 335

2. 3+4+5+4=16(k )
(6+3+1)x2=20( k)
(6+7)x2=26( k)

75, 1. 108x6+112=760( 1)
2. (100-7)+3=31(.)
3.20:10
4. 752-365+208=595(A.)
5. (1)8.5-4.8=3.7(7T.)

(2)10-6.9=3.1(.)
4.8-3.1=1.7(70)

6. (1)TAHTH (2)61K

BEm

3x10=30( &) 10x1=10(Z %)
(30+10)x2=80( 2 %)

Fa4m



